L55
The active participle can be changed into six forms, three masculine and three
feminine.
oS 1 Ska) 3 sdal)
(L9l 3aia) (a sSa «(8 shsm) ClasSa 1 Slal) al)
(290 [ gaia) Ena S (£ 58 ,a) GigasSa 1S3l ganl
A S 1 gal) 3 jhall
(903l paia) (i JSca <( 58 3a) (e Sh réiiisal ial)
(Lol gpaia) Cla sSa o8 5 ) CilaSn 1eiigal) gaal)
One of the qualities of the active participle is that it has a pronoun associated
with each form:
(58) S o ((1ah) G o (o) A (06) Dt o(1ah) Sheom ¢(54) o o
Like a verb, the pronoun of the subject will either be visible (_2) or concealed
(Jans).
Notes:
The weak letter in Ajwaf will be replaced with Hamzah as ‘(a5\%) 2.
The weak letter will be replaced with Tanween in Naagis, as ‘(=) e’
Section Two
The Passive Participle (Jsxidl aul)
When using a passive voice verb, the action does occurs on the proxy subject
(J=lall L), The passive participle signifies the meaning of the passive voice.
Muhammad knows the answer (&) sall 2asa Alad)
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The answer is known (<l sall )
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The answer is known (asize <l sall)



